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A man was assigned to find the average age of
a class of 13 students. By mistake, he included
the 35 yr old teacher as well and hence the

average went up by 2 yr. Find the actual average
age of the class.
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Section 1 - Paperl-English Language

No. of Questions: 10

Passage Questions (1-5):
Read the passage and answer the questions that follow:

“I suppose | may as well tell you something about where you are going to,” she said. “Do you know
anything about your uncle?”

“No,” said Mary.

“Never heard your father and mother talk about him?”

“No,” said Mary frowning. She frowned because she remembered that her father and mother had
never talked to her about anything in particular. Certainly, they had never told her things.
“Humph,” muttered Mrs. Medlock, staring at her queer, unresponsive little face. She did not say
any more for a few moments and then she began again.

“I suppose you might as well be told something—to prepare you. You are going to a queer place.”
Mary said nothing at all, and Mrs. Medlock looked rather discomfited by her apparent indifference,
but, after taking a breath, she went on.

1) Who told Mary about her uncle?

vere: Techofworld.In

C) Mrs. Medlock.
D) Her teacher.

2) Who looked with indifference?

A) Mary's uncle.
B) Mary's father.
C) Mrs. Medlock.
D) Mary.

3) Why did Mary frown?

A) The castle was too big and scary for her.

B) There were no toys in the castle.

C) Her parents did not speak about anything to her.
D) She did not know about her uncle.
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4) What kind of place was Mary going to?

A) A beautiful place.
B) A loving family.
C) A huge school.
D) A queer place.

5) Why was Mrs. Medlock discomfited?

A) She told Mary about her uncle.
B) Mary was apparently indifferent.
C) She was working with children.
D) Mary did neat and tidy work.

6) Fill in the blank with the correct option:

Indian Naval Ships' were briefed by the of German Naval Ships before

a joint exercise.

A) cruise, cruise T h f Id I
B) crews, cruise eC O WOr . n
C) crews, crews

D) cruise, crews

7) Which of the following alternatives explains the phrase "Drone on"?

A) to talk about something for a long time in a boring way

B) to walk like a robot without having any destination

C) to dance like a professional without any official initiation

D) to indulge yourself and others for a short time in a humourous way

8) Fill in the blank with correct prefix or suffix:

While vacating the government quarter, he had to pay for the break____

A) ery
B) age
C) ary
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D) ed

9) Which of the following words is correctly spelt?

A) committee
B) comittee
C) commitee
D) comitee

10) “Bury yourself in something” means

A) to give all your attention to something Te C h Of\

B) to be dead
C) to be in a situation of uneasiness
D) to pretend like someone else
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Section 2 - Paperl-Education and General Awareness

No. of Questions: 5

11) Which of the following human activities results in the increase in soil salinity?

A) Desertification of land

B) Over-cultivation of crops

C) Unrestricted grazing of land
D) Over irrigation of crops

11) AIeeQ FINYQ AdieRIagER A 604 BRIa 9E0! 98 @6a ?

A) 970 99ge1a08 TeCh OfWO rl d : I N

B) aana 2@ 918
C) 2efe Qasa «Ag oaa!

D) aane 2@ ersace

12) A definition by Gilchrist says, “an organised group of citizens who profess or share the same

political views and who by acting as a political unit, try to control the government”. Which of the
following groups is being defined here?

A) pressure group

B) interest group

C) political group/party
D) social group

12) GRRes QIAI 9@ QYIS @62, “FI9Ee AIRER 9@ A0 6aIF 6ANAIER ANIR AINCHER Q6N raIRIQ QU3 A AIREFER
ee AINER QI RQT, 6ACER ARIOG FARE QARG 608 903 | 7 FQRYC caIFIFIRR° aug QIR ais YT QUi CAIAINE ?

A) 919 6qIa1

B) zig2 eq1at

C) QIe6RaQ caIgl/ae
D) Qg 6aI81

13) Under the Open Basic Education programme, the minimum grade equivalent that a student can
enrol for is -
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A) Grade 3
B) Grade 4
C) Grade 5
D) Grade 6

13) ge 693 sl leéq@ﬂ AUAFER, FEE BIQ AGRE] 9T 65616Q QIFl 6AHQAIGS -

A) 6gai @
B) 6441l ¥
C) 6gen 8
D) 661 9

14) One of the main features of the British Policy on Education was its

A) socialist approach TeCh OfWO rl d ’ I n

B) upward filtration theory
C) elitist approach
D) downward filtration theory

14) 8Q1 AQN1 §TE TR 921 9Q S 6TFRY g

A) aaigeial QAIGIA
B) asiaqe cae daie

C) a°gIaes agieq
D) AqI8ge eaq Aaia

15) The Report of Ramamurti Committee put up in 1990 was titled

A) Towards an Enlightened and Just Society

B) Towards an Enlightened and Moral Society

C) Towards an Enlightened and Responsible Society
D) Towards an Enlightened and Humane Society

15) e ¢ co6a QRS afica 1@ a1de QeIQIQeR

A) @ RIRgIg Ne QYag4 AR 2Ieq
B) @ BIRQIY 1&* 67000194 QAR 2Ieq
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C) 9@ RI8gIg I&* Q13QQ4 QAIe 2Ieq T
D) 4@ 819QIg ¥e* AIRFREIQY QAIe 21eq e (
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Section 3 - Paperl-Reasoning
No. of Questions: 5

16) Which letter will be midway between 20th alphabet from left and 5th alphabet from the right,
when letters are arranged as per the alphabetical order?

A) U
B) S
C)T
D)V

16) 6a66696% @d9PQ @Al Rrca ARILR, AINQ 9060 94 e GIRIEQ 80 9 NUNGER 604 2FAT 0Re ?

A) U

¢ Techofworld.In

D)V

17) In a certain code language, if the word COATING is coded as AOCTGNI, then how will the word
ABILITY be coded in that language?

A) IBALYTI
B) IABYLTI
C) BAILYTI
D) BIALTYI

17) <@ 24 coie aiica, 9@ COATING se AOCTGNI aiesa ceie 62108, 6062 622 aiaisa ABILITY ¢eG @ d0d saie
QAR ?

A) IBALYTI
B) IABYLTI
C) BAILYTI
D) BIALTYI

18) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.
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2, if statement Il alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and Il taken together are NOT sufficient to answer the problem.

What day of the week is today?
| . 15th of this month is Friday.

Il. Yesterday's date was 3rd. 8/ 40
»1 Techofworld.In

C)3

D)4

18) FINYC ggedesa 636 @0q :
¢. 9@ QA4 | anQue QAR 6ol Q62 26T |

9. 9@ Y4 Il 1gdal anQie ARR ceig Kca 26T |
q. 96 QQQd | ve |l anvg 10 G218 6060 ANAIQ AN 62 Al AYF 266 |

¥. 98 QA8 | v |l anag ¥eId Faide 6060 @ anAUa QAR 600! I aug 6% |

2R AYIPQ 699 R ?
| .92 qIga ¢ 8 QIA¢ 6208 9]IQ |

Il. coQId M o6 gl |

A)
B) ¢
c)m
D)¥

19) Sunil is facing towards North. He turns left, and then right, and again right. In which directionis
he facing finally?

Download App- For Mock Test, Previous Year Questions, E-books, Notes (PDF) Click Here

)


https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World Whatsapp/Call- 8596976190

Set Id : 62297_12 BATCHI1_D.ELEd Odia_08NOV20

A) East

B) West
C) North
D) South

19) 9AR QAR AeY 9IRS | 6Q QIAY, IS° IR IRIEQ, I Jd QIRIEQ QA3 | 6886Q 6T 64 dag QLIad ?
A) 99
B) @dq

C) aaa
D) @84

20) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.

2, if statement Il alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and Il taken together are NOT sufficient to answer the problem.

How many students are there in the school?
I. There are equal number of boys and girls in the school.

Il. For every 40 students, there is one teacher and there are 10 teachers in the school.

2> Techofworld.In

C)3
D) 4

20) YIS g995e6a 636 @aq :
2. 96 QQQE | analia QAR ceaiqg A6 26T |

A QR4 Il 9gdel anaie AR caelq Acae 26T |
7. 98 QA8 | 9o || anng ¥eI0 H21AQ 6669 ANAIQ VAR 60a! ale UG 26T |

a6 QR4 | ver |l anag ¥eId FaIde 6068 @ ANAIR ARA 6ol alst adug g6d |
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QUINAER 6R6E RIQDIGT URD ?
l. SQURAEQR AFIR PHIQ FIRR I QIR 223 |

Il. 98 ¥o 96 21QRIQIE IR F6E VR LURS IG° FAYRAER € 0 FE FNR 283 |
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c)m
D) ¥
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Section 4 - Paperl-Teaching Aptitude

No. of Questions: 10

21) National Literacy Mission Authority is involved in the Planning and funding of which of the
following?

A) Higher Education Programmes
B) Primary Education Programmes
C) Teacher Education Programmes
D) Adult Education Programmes

21) GRge AUQ 62UGa 6AIRAI Y& AId A6 RIG1A AVG! IR GRS 86 ?

A) 2988 Qg

s semeon | @CHOTWOrlD.IN

C) 8ae dal Qidiga
D) @04 &8l QIdiga

22) A teacher praises students by saying 'good' when a child gives a correct answer. What is the
need of this behaviour?

A) To ignore the child and reinforce good behavior
B) To praise the child and reinforce good behavior
C) To praise the child and reinforce bad behavior
D) To punish the child and remove good behavior

22) 6360696 964 dal A0Q QAN 6QRAUNM, 6ACEEIER ZRIAR QY 6QIM 92 ARG YA 03 | 92 ZCRER NSS! @'
Q@8 ?

A) 9RIQ 2€6Q QASI I 0N UG QP *Q!
B) 9RIq g6ral @491 Ie* R ACAEQ 9 @A
C) 9nIg geral @391 19 ¢QIA USRS 99 KA

D) aaig @8 62%! e 9 2I0eEq 2008 @SSl

23) What does the word DPEP stand for?

A) Direct Primary Education Programme
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B) District Primary Education Programme
C) Diductive Primary Education Project
D) District Primary Evaluation Programme

23) 863 624G AR 4eQ0 297

A) IR60RQ JINCARAT IGERER 631916
B) 83 .Q 9I06A1a1 4g6adaq 69IgIe
C) 3Q5Q 9IR6nal 9g6adq 69I689
D) 34, 9IR6AQ1 @RIRIER 69197

24) Which of the following plans particularly emphasized on Universalization of Elementary
Education?

A) Ninth Five Year Plan TeCh OfWO rl d " I N

B) Tenth Five Year Plan
C) Eleventh Five Year Plan
D) Twelfth Five Year Plan

24) G699 6AIRRIYPR MUQ 6066 JINAR AaIQ IN1GaE QAR 688 YRR 692N ?

A) °99 ToIde 6aIeql
B) @4f reQide 6aIRe!
C) 994 roQida 6aI9R!
D) 9128 TeaI¥e 6aIRR!

25) Which of the following is appropriate meaning for the concept, 'staff development'?

A) Recruiting the Staff members who are perfect in performing their staff
B) Increasing the number of Staff members
C) Making the staff members physically fit

D) Training staff about skills and responsibilities and organizational goals

25) dqhRge auq 69d6 ‘edanis faia’ AQUIQEIQ A0R NIES QXN ?

A) | aeainieg 598 6291, 6adRIER 6ANIRTA SfgAINIRg QIR eaRIsa aseien
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B) adacic eauca o&
C) edaamrIeg aIside Ise ¢ a9l

D) @801 9e" QIQ e° APA0RR ARYN F896R QNN SIRA 6@

26) If the task before a group is to set up a play, which of these groups is a heterogeneous ability

group?

A)
B)
C)
D)

All write the script, decide the props and set the play to music, most of them act.
All the children take part in the narration, and writing of the play, some act.

All the children act, one writes the play, all of them set it to music, all dance.

One child writes a play, another does the props, a third sets it to music, three act.

26) 93 9@ Q6@ 699 AL 2891 1@ 69I91Q QIdY 621Q2AN, 6969 IR CATITINS FRIQ 62AE @ SR8 280! QIR sa1gt 2AET' ?

A) QA63 99 6a%3, 94 Ja @a3 I AICRQ ATIOER 636 @AF, CAMIRT AUQ ZYSFE 2R €43 |
B) 999 RIAIKE QICRQ QI2IEN, IE° CASIER FAF2E @03, @3 AR 93 |

C) 66IGN Rl 9@ QISR 6R63, ARIT g @93, QEIANER IAQ ATIEER 63F @03, 0704 2GRA @A |
D) 979 aal 20Ra R85, REE AICR 6QH3, AAES A ATIGER 626 *TYER, AMES RIS |

27) Which of the following examples relates to the cognitive characters of the learner?

A) Self motivation, self imaging, self efficacy

B) Mental procedures, problem solving, organising information
C) Age, gender, place of birth
D) Self motivation, age, mental procedure

27) SRge aQIeeagde MIQ 6246 RIS RINSE 08 a8 986 ?

A) 291 690l 27 9883, a7 A8l TeCh OfWO rI d " I n

B) AIede gFal, AaQY AARIL, 9oR! PA0e
C) 999, fa, 89 QIR
D) 219 6996, a9, AR gelI

28) Which of these teachers is giving a task on inductive reasoning?

1. A teacher gives the rules related to passive voice and asks children to create passive voice

sentences.
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2. A teacher tells children that most basket ball players are tall. She asks them to cite the names of
players.

3. A teacher asks children to examine data on dishes prepared for midday meal and consumption
and waste of food and asks children to draw conclusions about the relationship in the data.

4 A teacher tells the children that a number ending in O or 5 is divisible by 5. The children give
examples of numbers divisible by 5.

A) 1
B) 2
C)3
D) 4

28) 12 S9RAIS ARIQ 6296 RN 2RFIR Qa6R QIKY 62083 ?
2. @64 d9@ QId6 IQ 920 RGO FAN FFA6Q RAIB Y& ARG AT IQ 8l QIRY F2UR *AIQ QL3 |
9. 966 S8R GRINING QL3 6Q AYRFE ACAS AN 6ULINT 66°al AGF | 6Q TAAIRG CHURIFT PIN AR FARIQ @25 |

0. 966 490 AAIAIRG MUY CAINAER GO CRINTRI HINY Ye* IRIQ MO IS FACA FACR S NI *AIg 908 I oaNgle
AI6Q 8Ql ade 896 ANIS 629IQ ARG Q23 |

¥. 966 390 GRIFIRG Q25 60 o @9l 8 60 649 6202Q! P 8 QA FAITE 291 TAIAIES 8 QISI TR TIIGFRR LS U3 |

2. Techofworld.In

C)
D) ¥

29) Woods’ problem-solving model involves all of the following EXCEPT

A) Define the problem
B) Plan a solution

C) Think about it

D) Look front

29) Q@ & AAQY-AAIRIIE FIERNER YRR AU 6QAE SIS 2R AQ 2N ?

A) QAQYIg ARgRIE ARR!
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B) Qaa1Qyl Qa16a 691991 Q89
C) 9@l 9996Q QR
D) 2169Q 6g<!

30) Graphical representations for establishing visual connections between several ideas or
information is referred to as

A) drawing

B) concept maps
C) figure

D) graphs

30) zeae deel @l QORI AUER qaq@@e F6S YR 28I AR §80 RQYIANIQ

neee | €CHOTWworld.

B) de6l AIRGE
C) %e
D) g

QeIaN
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Section 5 - Paperll-Odia Language

No. of Questions: 15

31) 6G2 VAVER IR YR A°HYI 6657

A) 9
B) r
C) eo
D) e

32) ‘amay’ adea eee ‘@’ 20ad Y e 9% QI |

A) daie
B) 779
C) fssa
D) @a¢

33) QA1 @ ATREQ AN 62RYQ |- AT 699 AR ORI 69T ?

A) QAIQY 9@ TeChOfWO”d . I n

B) fe1g9@ 9@
C) 21g0Ra @@
D) gieige

34) ‘269§'9ea FadoldealNe 89 QI8 |

A) 798
B) 27198
C) 918
D) @98

35) ‘2RI 996 QAR 900 621987
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A) 2+

B) aixj+2i1e)
C) a-a+2
D) aia+aie

36) BE2 QUEIR YAFINS FRIEA 6RQ YTT CAITE YT VSR URDS?

A) @
B) ¢
Ce
D)a

37) ‘a’ uIQ MNeQIQ RN 2AAG B 995Q QI8 |

0w 1echofworld.In

C) ge@
D) gaie

38) ‘alidaq’ e v Q2RI QFeQ 912 |

A) Qe QeI
B) 6% 6sti@ql

C) e@1Q8 *del
D) 9% ¢ia QA

39) ‘wdoQ’ 9fe ud F9ue ea

A) @156l 69
B) zuieg

C) 22ae @l
D) 69! 89
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40) G6I8 FIQ 6QRG IR Al 9@ ?

A) ¢liag
B) @&,
C) anay
D) sau@

BATCHI1_D.ELEd Odia_0O8!

41) ‘GQleqsl’ 90a aR0II6RIR §R QUL |
A) 8999

B) @8l

C) ra@lara

D) gaerearsi

42) '‘AI0%’ 95 QAB6R 674 AR QIS ASAS?

A) qal QIeQ

B) &d@ mQ@TeCh OfWO rI d . I n
C) @ad QleQ

D) adl Qi@

43) Geqis crIQ ‘AR’ Bd6a ‘Qell’ goua 6QIsEa §106 arg QIR |

A) 2dal
B) q&all
C) ez
D) «8aa

44) 2Q 9G2U6R 63178 — I0IER FAIT 694 AR IO AQE?

A) Bo4gee QeaIR
B) a¢a qaqlie

C) aerae Qenlie
D) aqrak ae1e
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45) ‘0ad’ 0a QAP 4R QIR |

A) salel

o= Techofworld.

C)¢®
D) 21014
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Section 6 - Paperll-Mathematics

No. of Questions: 15

46) If 2x + 5 =2x + k, then k =

A) 4
B) 5
C)6
D)7

46) 9@ 2x + 5 =2x + k, 606 k =

A) 4
B) 5
C)6
D)7

47) If the circumferenc of a circle is 44 cm, then what the area of the cirlce? (use = 22/7 )

o Techofworld.In
C) 196 sq.cm
D) 203 sq.cm

47) 2@ 9@ Qe AR 44 6af 94, 6669 QA 680TR 6060 629 ? (17 = 22/7 420 @0 1)

A) 154 od 6ad
B) 149 «d ead
C) 196 ad 6ad
D) 203 a4 6ad

48) The reciprocal of the HCF and LCM of two numbers are 1/4 and 1/120 respectively. If one of the
numbers is 20, then the other number is

A) 36
B) 16
C) 24

Page200f40


https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World Whatsapp/Call- 8596976190

Set Id : 62297_12 BATCHI1_D.ELEd Odia_08NOV2020

D) 60

48) af e Sl Ie° Aalg @ JOEMIA aaigen 1/4 wer 1/1201 98 augde nuQ 6515 6208 20, 6060 204 PG 6208

A) 36
B) 16
C) 24
D) 60

49) What is the simple interest earned on 210,000 invested for 2 years at a rate of interest of 8% per
annum?

A) 1200
B) % 1400
C) T 1600
D) % 1800

49) aifie 8% g 2iasa 2 ad aigl dFeais 621l T 10,000 aasa ae Ql 6R60 624 ?

v Techofworld.In

C) 1600
D) ¥ 1800 21740

50) For the system of linear equations x + 2y = 1 and 2x + 4y = 4, there exists

A) unique solution
B) infinite solution
C) no solution

D) two solutions

50) X + 2y = 1 9e* 2X + 4y = 4 606166 ANRRE A6, 6A0I6Q QT

A) ZERY AARIF
B) Q1A QAR
C) 6@16d anie QIF
D) 26§ anIe
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51) A chord of length 6 cm subtends an angle of 60° at the center of the circle. What is the area of
the minor segment formed by the chord?

A) 9V3 sq.cm

B) 61 - 9¥3 sq.cm
C) 21 - 3¥3 sq.cm
D) 41 sq.cm

51) 6 62f §3a 9@ 24l QAR 6228 a2 60° Q QI8 coe @sa | fYI QI G106 621RZR! 6216 TR CTRTR 6R6E 62Q ?

A) 9V3 odi 6ad

B) 61T - 9V3 ad saf
C) 21 - 3V3 ad 6af
D) 411 od 6ad

52) If a gardener plants 6, 8 ,10 or 12 plants in a row, five plants are left unplanted. If he plants 13
plants in each row, then no plant is left out. What is the minimum number plants that are with him? (
Assume that number of rows can be increased as per the requirement)

e Techofworld.In

C) 725
D) 845

52) 9 964 AIR1 IR 2IF6Q 6, 8, 10 ¢l 125 g AGIT, 6069 LGS Gg ARSI AIR RIS | UG 61 G6SHR
2IFER 135 01g AGIIE, 6669 2R ARSI AR GF 98 YRR 9T QI | GIQ° ISR 2T Q¢ 69 6Q6IT GIg 2T
?  ( Q6RQQIdIR @  AQAQel  agAil A QI 9F eal  QRaRe )

A) 485
B) 605
C) 725
D) 845

53) A shopkeeper sells an article at a discount of 20% and still makes 25% profit. The marked price
is more than the cost price by
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A) 37.50%
B) 45.00%
C) 52.50%
D) 56.25%

53) w64 saiaic1 20% Ga156a 9@ TN § 4@ @08 e 021d 25% A1 *ad | AFe GRY |4 GAIQ GRI0IQ IEF 28R

A) 37.50%
B) 45.00%
C) 52.50%
D) 56.25%

54) The ratio of savings to expenditure of a person A is 3: 4. If his total income is ¥ 35,000, then his
expenditure is [Note: Total income= Savings+ Expenditure]

s Tachofworld.In

B) % 15,000
C) 220,000
D) % 25,000

54) 18 A @ o9 a2 960 2QaIe 62ad 3: 41 ad aiga 69119 21a T 35,000 24, 6669 0G0 ¢6 6208 [ YOR! : 69119 21
= Q°eL + oo ]

A) 10,000
B) % 15,000
C) 20,000
D) % 25,000

55) If P = The set of natural numbers less than 10, Q = The set of positive even numbers less than
10, R = The set of even prime numbers. Then (PN QN R) =

A}

B) {2}

C) {2,4,6,8)

D) {1,2,3,4,5,6,7,8,9}

Download App- For Mock Test, Previous Year Questions, E-books, Notes (PDF) Click Here


https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Tech Of World Whatsapp/Call- 8596976190

55) 0@ P = 10 @ @7 9iI96e @euigdea 647, Q = 10 @ 27 4RO JQ A°HIGSTRR 62T, R =g 6717 Q°HIgeea
6Q1606e (PNQNR) =

A){}

B) {2}

C) {2,4,6,8}

D) {1,2,3,4,5,6,7,8,9}

56) Which is the least perfect square divisible by 12, 20 and 457?

A) 100
B) 400
C) 900
D) 1600

56) 12, 20 1< 45 Qo da1G6 6208l A90g g4 ad 62ee 26T ?

A) 100

-0 1 €Chofworld.In

C) 900
D) 1600

57) What is the equation of the straight line whose x-intercept and y-intercept are 4 and 3
respectively?

A) 3x+4y =12

B) 4x + 3y =12

C)4x-3y=12

D)3x-4y=12

57) qaee 6a¢lia an1aad 6260 62@ IRIQ X-68QI°E e y-68Q1°8 aaiasq 4 er 3 26e ?

A)3x+4y=12
B) 4x+ 3y =12
C)4x-3y=12
D)3x-4y =12
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58) The ratio of the present ages of Daniel and Joseph is 5: 6. After 10 years the ratio of their ages
will be 7:8. What was the ratio of their ages before 20 years from now?

A) 1:2
B) 2:3
C) 45
D) 6:5

58) @lasam we* calcaeq FATINR eacn 20aie 6208 5:6 | 10 od A9, 6aAIRT @A 2gAI0 7: 8 620 | AR IeQ 20
od g6q 6QANINTR AAR ALAIC 660 AR ?

A) 1:2
B) 2:3
C) 45
D) 6:5

59) In which of the following options, the first set is a subset of the second set?

A) Whole numbers,Natural numbers

B) Real numbers, Natural numbers TeChOfWO rld » I n

C) Real numbers, Rational numbers
D) Natural numbers, Whole numebrs

59) AORYE FRAYER AIQ 6RATER, AN 6AQ TS0 69] Q RAEAR 26T ?

A) gél Qalil, 9Igoa Qe
B) QiaQ Qal, gIgee Qe
C) QIeQ Q°%iyl, Q@A QI
D) giq@e Qcatyl, g6 Q|

60) If x + (1/x) = 9 then the value of x4 + (1/xM\4) is

A) 5,229
B) 5,349
C) 5,685
D) 6,239
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60) 2@ X + (1/x) = 9 29, 6662 X4 + (1/xM4) a F1IR 6208

A) 5,229

B) 5,349 TechofWOﬂd I N

C) 5,685
D) 6,239
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Section 7 - Paperll-Social Science

No. of Questions: 15

61) The Gobi Desert in China and Mongolia is a type of

A) Polar Desert

B) Subtropical Desert
C) Mid-latitude Desert
D) Coastal Desert

61) o160 ¥e* crIEERZIR 6617 IQRA Y@ gRIeR

A) Y¥o1a 999a

B) QQegidain aqef
C) aw-zara AQQA

D) @99® AQed

62) Scientists usually study or map the Earth's interior, excluding the crust, with the help of

neeain Tachofworld.In

C) Artificial Satellites
D) Digging and drilling hole

62) 6FRITRACH ARIIREGE YRR VEA 2°6G 2AUAR ¥AS AY AINTY QOB QY 81T, Y2 ALIAYER
A) aee

B) gas caer

C) @@n @age

D) 89 6¢1IFQI 9&° @aQ!

63) The Indian Constitution is in structure.

A) Quasi Federal
B) Unitary
C) Presidential
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D) Federal

63) fIeeia afAIa G0 ad|

A) Q1A saeeqin
B) g@cai

C) sglceqm
D) aseain

64) In which of the following prehistoric ages, farming, cereal cultivation and animal domestication
was introduced?

A) Neolithic Age

B) Lower Palaeolithic Age

C) Mesolithic Age

D) Upper Palaeolithic Age

64) AARNYE YIPIR Yol FRIQ 62RTER 9T, FAY GIF IQ° AFAIRE YRR FAIAIRYNI?

neeagsags | €Chofworld.In

B) g< gaies gaa ge
C) ci1 gga goIgel
D) @@ gaies 9ee g4

65) The Tree Plantation (Vriksharopan) ceremony was first started by

A) Mahatma Gandhi

B) Vinoba Bhave

C) Rabindranath Tagore
D) Swami Vivekananda

65) geee 92 ACIRS! (QEEAITE) AN IRIF QI 2R 62RR

A) Q1L1€)l QIS
B) @siQl a6

C) QR899I 9169l

N _An_fan
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D) I Geeqiaa

66) Which layer of the Earth is the source of lava that erupts from volcanoes?

A) Outer Core
B) Inner Core
C) Mantle

D) Crust

66) qdeie 69 20 RNl AQ A9l AFITAQ 2Q] 297

A) Q14 62499 28R
B) 2138 629Q 25@
C) aigieq

D) ge)

67) Which of the following options is a good example of Local Self Government?

wewsn — Techofworld.In
B) Democratic decentralization

C) Direct democracy
D) Administrative delegation

67) GgRge Fe8gea MUIQ 6RAF YR1A AAE JIARR IR A0 ULQE ?

A) Taia

B) ceioiae dsagiaad
C) Quiaed ceea

D) geIARR oA

68) Chief Election Commission of India holds the office for a period of 2

A) 6 year duration
B) 5 years or the age of 60 years whichever is earlier

C) 6 years or the age of 65 years whichever is earlier
D) during the pleasure and decision of the President
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68) RIAEQ Y AISR 2CAIT AR AN ASB |
A) ® QF A
B) 8 ad éa1 90 od eaa QIZI GoQ 28

C) 9 ad @al 98 ad eoa QILI GIQ AT
D) Qiaa6e ¢d e 596 ana

69) The Arctic and the Antarctic regions on the surface of the Earth are usually

A) Hot

B) Cold

C) Neither Hot nor Cold
D) Both Hot and Cold

69) 9aQ1 9I6Q QI UGER I° UPSIRTR POR ARSI

s Techofworld.In
C) @69 g¢ @9l 616% Q€
D) @99 299 I&* §16R

70) Diarchy was first introduced under ?

A) Morely Minto Reform

B) Govt. of India Act of 1935

C) Simon Commission

D) Montaque Chelmsford Reform

70) @ ZAREQ gaee QAR ziea QQIAIQAR! ?

A) salieq reet ETIL]

B) ameciq 2 &2l e cas @ 9Q
C) AdIpeg aasg
D) 6Q19IQ 69RF16916 Q6LTIE
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71) The Veda that contains numerous mantras, related to the cure of diseases and destruction of
adverse forces is

A) Rigveda

B) Yajurveda

C) Samaveda

D) Atharvaveda

71) 6QQ, 4 26Q@ €13 QS ARAN, Q1T AAGF IS JEYR 93Q FRI8 ATC 9GS 6T |

A) geI6QQ
B) ageae
C) aqeqe
D) 221q6Q@

dates?

vzemn Tachofworld.In
C) 22nd April
D) 22nd May

72) The International Year of Biodiversity is commemorated every year on which of the following

72) 291010 652 A0 @d goQd FAgYe 0IAHgeR FRIQ 62966 TR QAIAI ?

A) 9o 26gM
B) 55 ga
C) 99 26N
D) 99 €@

73) What were some of the subjects that were transferred to the Concurrent list from the State List
in 19767

A
B
C

D

Weights and measures
Public order

Public health and sanitation
Betting and gambling

— S
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73) ¢ (99 60 QIR CIRRIQ ANRE CIARIQ YRIFEE 621R2Q FAAYFR @€ Rl ?

A
B
C
D

6 Ie° AT
RRAIRE

FEAIYY I AQAR
6QG° e* Qall

74) What happens when a ship crosses the International Date Line from West to East?

A) Half a day is repeated
B) A day is repeated

C) A day is dropped

D) Half a day is dropped

74) 60606967 IR 12 USIFIOIA 016 ARG AFAQ 9F Aie ATYIB F6R 6ACRERER @6 Q1R ?

A) a1 GeQ GRAIGR 24 TeCh OfWO rld In
B) a1t GeQ GRQIQE g9

C) 69 @ 21@ daIarg

D) 2l 2@ QAN

75) Who was appointed as commander in chief of INA in the Bangkok Conference?

A
B
C
D

Rash Behari Bose
Subash Chandra Bose
Captain Mohan Singh
Giani Pritam Singh

i

75) QUieQ ARRG16Q AIRNMENa 7161 RE1IEQ aIeea @4 799 621RgsA ?

Qd 101 6919

4RId 04 62N
AIACER 67128 &
RAS gleq &

A
B

C
D

N S N S
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Section 8 - Paperll-Science

No. of Questions: 15

76) Which of the following reactions will liberate methane gas?

A) Hydrolysis of berylium carbide

B) Hydrolysis of magnesium carbide
C) Hydrolysis of calcium carbide

D) Hydrolysis of strontium carbide

76) 39Rgo 9oRAIgee MRIQ 64T AsaR GUIA] 99 KA ?

A) 628R0A QIFIAGR 2R6EINIRAQ
B) fuisqdon @idiaeq 2asgiaeda
C) @¥1ad0q QISIaea 21asgIneda
D) 68r62A QIFIReR 2I06gINIRAT

77) Which among the following is CORRECT regarding the melting point or boiling point of solid or
liquid when impurity is added?

A) Melting point will reduce TeChOfWO rld . I n

B) Melting point will increase
C) Boiling point will reduce
D) Melting point will remain unchanged

77) zga01 AGIQQI a0a6a AR @9 600a ARRIR° B QoRIa° daaca AqAge MUQ 69a% A0R 26T ?

A) 9RQIQ° 2a alge
B) aacie° 9& aee
C) goRIa° gia aige
D) a@ie° 208980 age

78) Mass of a body into acceleration is

A) power
B) displacement
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C) force
D) momentum

78) 90 9gQ G4 QQé AAIQ

A) &3
B) daiae
C) ag
D) avsaq

79) The association of endotoxin in gram-negative bacteria is due to the presence of

A) Steroid

B) Peptidoglycan

C) Lipopolysaccharide
D) Polypeptides

79) gin-6a66ea QUIEALICA IETIETIFR @ AR 12ia AAFE QINEQ cRInaNd

ne e 1 €ChOfWorld.In

) ACAARARARE
D) GQSQQIQQQ

80) The lateral branch of one internodal length which bears a rosette of leaves at every node and a
tuft of roots arising from the base of the stem, in some aquatic plants is called

A) Stolon

B) Sucker

C) Offset

D) Runner

80) 66154 reasRISIR 63d4a QISR SISl AIRI G66YR 6RIG6R IR YRR IR Q68 16”681 719Q AR PR I 6F, 69609 SLRI0NA
26eg geian

A) 68109
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B) 299,
C) 2a6a¢
D) 889

81) What property is shown by conc H2SOa in the given reaction? Given: 2CH3COOK + H2SO4
— K2S04 + 2CH3COOH

A) Oxidizing property

B) Displacement property of itself

C) High volatility of itself compared to the product acid

D) Low volatility of itself compared to the product acid

81) ge@ gédake eearsge H2S04 qial sad G_]_élélﬁ sesia ? ge@ : 2CH3COOK + H2SOs4 — K2SO4 +
2CH3COOH

A) zgeies GERIA TeChOfWO rI d . I n

B) 8ea agiae geId
C) Q< 93e QRAI6R F9a 2R AFAS!
D) @Qie 93¢ @ReIsa fea a1 AZeS!

82) Which of the given characteristic differentiates evaporation from boiling in liquids?

A) In evaporation temperature increases whereas in boiling temperature remains unchanged
B) In evaporation temperature decreases whereas in boiling temperature remains unchanged
C) In evaporation temperature decreases whereas in boiling temperature remains increases
D)

In both evaporation and boiling, temperature remains unchanged

82) Q@ 659895e uQ 6096 0ae aldea goR 01Q IEIRQEq §g @6a ?

A) qrieassa QIaAIg Q8 AINAUN 6606 GON6a QIAAIQ ARG eara

- - _.
B) cmieassa Q19AIgI 21Q AINAN 60606R6R GOT6a GIaAIg! ADARS ada
C) amieassa QIAAIGI 21 AINAN 6060696 GoR6a vlanigl @8 IR

D) aea cieiees ue §oR6e Glaaigl ARG edaN

83) What is the accleration produced by a Force of 16 N exerted on a object of a Mass 2 kg?
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A) 6 m/s?
B) 8 m/s?
C) 4 m/s?
D) 2 m/s?

83) 2 kg 6@ 9@ Qg QU6Q gedidl 621R2Ql 16 N Q@@ FIQl gR 62921 Q€ 6262 26T ?

A) 6 m/s?
B) 8 m/s?
C) 4 m/s?
D) 2 m/s?

84) Endomycorrhizal association is present in 5

A) 10% of plant families T h fW I d I

B) 40% of plant families eC O O r s n
C) 85% of plant families

D) 5% of plant families

84) 16QInIRsRIRRIR 2UCAIIAR ca @age 2N |

A) 282 9dQiaq k0%
B) @8@ adQiaq ¥o%
C) @8 adeiaa r8%
D) @8@ 98QIea 8%

85) Cells can also communicate with each other through intracellular junctions. The junctions found
between plant cells are

A) Tight junctions
B) Plasmodesmata
C) Gap junctions
D) Desmosomes

85) ergicaqaia #Sae AR 6RITFFe 00aa a2 6aIGIEAIN @AAIRER | a8 6RIAgER AUER AQYQl RSARYER 6208

A) 106 9eaR
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B) qieisaiegie!
C) suia 8&ae
D) 6easaisain

86) Read the following statements and choose the CORRECT option:

(i) Fruits develop from the complete inflorescence is Composite fruits

(ii) Fruits develop from the multicarpellary apocarpous ovary is Aggregate fruits

A) (i) is FALSE and (ji) is TRUE
B) (i) is TRUE and (ii) is FALSE
C) (i) and (ii) are TRUE

D) (i) and (ii) are FALSE

86) fqghge FRAEYEY aeq e 2de Jes Ieq :
(i) rgd 9@ 3090 9RQ TRYER 6203 REHIRE TRYER
(i) aReedaIe 26AIRIIA BRIGQ TRFER 6208 AQRIA TR

A) (i) 21994 2166 e (ii) 2o 268 Tech OfWO rld : In

B) (i) aey 2166 v (ii) 2QAGY 26
C) (i) we (ii) a0y 2ee
D) (i) e (ii) 21904 26

87) What will be extent of intermolecular forces in the gases with given critical temperatures? The
gases with critical tempeatures are: He (-268 °C), CO2 (31 °C), CHa (83 °C) and N2 (-147 °C)

A) CHs > CO2 > N2 > He
B) He > N2 > CO2 > CH4
C) CHs4 > N2 > He > CO2
D) CO2 > N2 > CH4 > He

87) 9Q@ «8e clanigl 980 euidea 2BANIR AR 96N 6060 629 ? 9O CIANIGI ATE HIAYFS 6208 :

He (268 °C), COz2 (31 °C), CHs (83 °C) 9@ N2 (-147 °C)
A) CHs4 > CO2 > N2 > He

~ A= _tan
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B) He > N2 > CO2 > CH4
C) CHs > N2 > He > CO2
D) CO2 > N2 > CHa4 > He

88) When forces acting on a body from the opposite direction do not change the state of rest or of
motion of an object, such forces are called as

A) balanced forces
B) unbalanced forces

C) mass
D) velocity

88) 60606967 Y@ g AU6A FAAIG FQ AT ARYR AR G AQAQ 2R A 95 RN IR, 692 *RQ
Q4 QRIAN ?

A) ag@e a@

mammee 1 €CHOTWOrId.IN
C) ega

D) adeeq

89) Which of the following is a lipopolysaccharide?

A) exotoxin

B) enterotoxin

C) endotoxin

D) All of the above

89) AqAge MIQ 6add c2ad 1@ MEAINRNARIAURR ?

A) 6Qies1gR
B) 16Q6Qle1gq

C) wsaiea1gq
D) @g6a 29! an1g

90) Read the following statements and choose the CORRECT option:
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(i) Vacuoles are fluid filled vesicles bound by membrane called tonoplast

(il) The fluid present in it is called cell sap or vacuolar sap

A) (i) is FALSE and (ii) is TRUE
B) (i) is TRUE and (ii) is FALSE
C) (i) and (ii) are FALSE

D) (i) and (ii) are TRUE

90) A9Rge YRR aeq ve A0R Gesq @189 :

. P~ -~ - -~
(i) ooe aqisq QR 621089l 95l G2l Q) A2 99 621024, AIRIQ S16RIYE QRIAN |

(ii) wasa el 0aR aldq 69R AU QA ANAIQ AT QLIAN |

A) (i) 21904 2168 e (i) AN 266

B) (i) Qo4 2166 e (ii) &A%Y 2169 TeChOfworId In

C) (i) e (i) 2Q0Y 263
D) (i) we (ii) Q04 263
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| | Answer Key
1€ 31| B 61 | C
2|D 32| D 62| B
3|C 33 | € 63| D
4D 34 | B 64 | A
5/B 33 | C 63 |
L 36 | D 66 | C
71A 37 | B 67 | B
8| B 38|A 68 | C
9 |.A 39| D 69 | B
10 | A 40 | A 70 | D
11 | B 41 | C 71 | D
12 | '€ 42 | A 72 | D
13| A 43 | D 73 | A
14 | D 44 | C 74 | B
15| D 45 | A 75 | €
16 | A 46 | B 76 | A
17 | A 47 | A 77 | A
18| C 48 | C 78 | C
19 | A 49 | C 79 €
20 B 50| C 80 | C
21| D 51| B 81| D
22| B 52|D 82| B
23 | B 53| D 83| B
24 | B 54 | C 84 | C
25 D 55| B 8 | B
26 [ C 56 | C 86 | C
27 | B 57 | A 87| A
28 | C 58| A 88| A
29| D 59| D 89 | C
30| B 60 | D 9 | D
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